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DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST, FOR OFFICERS OF THE CO-OPERATIVE
DEPARTMENT - BOOK KEEPING

(Without Books)

Maximum Time : 1 hour Maximum Marks : 40

IMPORTANT INSTRUCTIONS

OBJECTIVE TYPE
Qarer@ml euena eSlemsgmer

Read the following instructions carefully before beginning to answer the questions.
el éaandE etlenl_wiaflés Qgm _mi@b (e Sp&ssnr 2| fla|er&eneT GeIaiLoNs Lig &&e.|lb.

NB: Words of masculine gender in these instructions shall, where the context so
require, be taken to include feminine gender.

@bs e msseiler e urdlanflar aurrdamsseate, @pasGahu G,@emuqum.m AT,
Liredlentlen eurT&ensHes(Ehid SiLrmiGL.

This booklet should not be opened till the Invigilator gives a signal to open it. As

" soon as the signal is received you should open the booklet and then proceed to

answer the questions.
Bhs NamsQsrglGmear  sanasrafiiiurarilar  oigind CQunesnE pemenT Snéssn g,
sersiraniliungr eflenrsG s @ nlenan pliLghE aind 2jaflssea e elardbgrelilamear SpbHgi
oflenL_wetlés T misemD,

This question booklet contains 40 number of objective type questions. Prior to attempting to
answer, the candidate is requested to check whether all questions are there and ensure that
there are no blank pages in the question booklet. In case, if any defect is noticed in the
question paper, it shall be reported to the Invigilator Jmmedlately, .within first
10 minutes after which no request will be entertained.

Qeucllamgsrar 40 Qanargh cums ollamssmer Caramg. ofameriugryiser Sl wielss
Qar_mig oper, ellamggrafier erevan eflammaas@rn @b QubmereTenalr eemimsu|b, gGsaibd e
ubshsar / elenmnssdr SFfCuLmnnd e@ulHeratarelr ereLimsLDd FAUTTSgE CaTerereyb,
Memsanailes gGsapn @eon @umludear alamssraens Qupp Ger usg HLOL_rsEEEGET S
samsrafiuurerfiib Qsfleléss Cauam@b. SisnE 9neE GsfNatssiiu@n Carflémasdr gab ahms

QemememiLiL_om Lmg).

Answers all questions. All questions carry equal marks.
Sasg amasEndeh oL wellés Caar@n. masg eNamés@sbd swwrean UGS
QaTeTL_enal.

[Turn over



3.  Candidate must write his Register Number in the space provided on the top right side of this
booklet alone. Do not write anything else on the Question Booklet. _ &

sfeimenn ugnydlen LSQaianenar Qaicfanssrailer Giod aing Lsasb eppisr eabsct Gaor
QLédla arpg Ceuam(Bid. el ammssmafla Gougy eranguib (P& Snl Mgy,
4, The sheet before the last page of the question booklet shall be used for any rough work.
eflenrgsmafier &ém_ﬁ LsasANE@ e LEsSHD rough work erd Lniée 2 UGWIrdlgg s Qamereralb.
(a) Each question comprises of four responses i.e. (A), (B), (C) and (D). Candidate shall select

only one correct response. In case, if the candidate feels that there are more than one
correct response, shade the response which he considers is the best.

ot

(b) In any case, a candidate shall choose only one response for each question.

(¢) If more than one answer is shaded for a question, the answer will be treated as
wrong and no mark will be given for that question.

(d) The total marks will depend on the total number of correct responses marked in the
OMR answer sheet. (For this purpose, only one shaded circle for a question will be taken
into account for awarding mark)

(@) eeuGeurgy lemelp@io (A), (B), (C), (D) erar preg el sar Qar@ésiiul (Hererg).
alawanr iLgTIT Seunble) GCsaID ¢ sflurean efleni_ewg Coira Qe Gouam(ib. @eammiée
Copul L sfurar o aer g edamelng QEuusts &, Sjeuddled erauailan 18&é
#flureng eren smgddisCen, sicefe mw Bl @ s Ceuamr(ib.

(b)  ecLeunmi9guihd, em efameine ¢Cr e ellenenwig gmen Coinds(ss Gauam@ib.

© @@ el @apée Copul L el L kisaid dflenLwallGsLULl g BHHSTe Djeueilent
pauprengrs smeULL R, Scualammelne wdHiQuer QUPRISLILIL DML L g,

(d) OMR oflen_g grefled @iléariurL sfiurar efen_semart Qurmgg, CQwrés wELCAUGTEE
auprislILBD (@ dlemelbe e ol LgHd (@B ) BlpaflL efeni_ o GG &G ueT
eULpmIS SaTéSlD T (NGEI6 QamareriL@b).

6. Do not mark the answers in the Question Booklet.
eflenmggmaficy efllen_senand @HlULAL & sal gy,

7. Candidate shall not remove or tear off any sheet from this question booklet. During the
examination he is not allowed to take the question booklet out of the examination hall. Only
after the examination is over, he shall be allowed to take the question booklet. :

Aamerriugm, elemgsrelan abs m LsssmsLD, BésCan Sideg HPEsCaur aalrg. Ggr‘raj
parL Lumb Gurg, efenrssraner Csirey L paogall () CeafliCu e(dsg deda oigynd daLwrg.
Cgiray apups UaranCy eflemgsree or@sgs Qewe sigybdésiiL@ai.

8. Failure to comply with any of the above instructions will render you liable to such action or
penalty as the Commission may decide. '

Gopsan oblemrselleds gCsgund  Bniu@Cowurenmd Careunenamrib er(HEGD  Sewr_even /-
BL6UlqE0&ES 2_erenna Chifl(Hib.

9. In case of doubt, English version is the final. .
eflannsaatiey sHCHS0 ML 6m, 2pndle ulg el Aar@ésiiul_Harer efamssGor @mibuimens).
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1. Assets minus liabilities is
(A)  drawings ' ./fﬁ‘) capital
Q) credit (D) debit

Qersgisaafal@mhg CurpiiLsmer &fss8

A  ahuy B)  wso
©C) eapey D) Qsaey
2. Amount spent in order to produce and sell the goods and services is called
\/(4‘) Expenscs (B) income
(C) revenue (D) loss

Qumrmener 2-HuSSH Qe g e mser, uafludanar ellhuemer Qe b Hlaneasg QaranBeur

G0 Ggrens
(A)  Qeweyser ' B) eumeums
(€) ysmub (D) plowb
a. Cost incurred should be matched with the revenues of the particular period is based on
v@ Matching concept (B) Historical cost concept

(C)  Full disclosure concept (D) None

@GOG sarssTar e 2L&s aflane aumeunGun® euuyChrd@eug)

A) Qurmsgiams &mHoe (B) yyrsen 2idselena &S
©) pu Qauelluum_ (s smbe) (D) @eoeasaile ggiildenc
4, Drawing account is classified under
(A) Read Alc AT Personal Alc

(C) Nominal Alc ' (D) Premium Afc

r(RUILG savTéE euansULB&sUT_[Herarg
(A)  Qerggs sansE B) ederTamEG
(C) Quuyereys serrsd; (D) omés sawé
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5. The Accounting Equation is connected with
(A)  Assets only
(B)  Liabilities only &
JQC) Assets, Liabilities and capital
(D)  Capital only

&S WE FoETUT(D THEILET STTHES?

(A)  QenggisseenLen '

(B) Qu TOILIY&(EHLen

©€)  Qemggismer, QuImLILsET LHMD P&DH HueunmL e

D) wpsesH
6. Purchased good from Murthy on credit should be credited to
JB  Murthy Alc (B) Cash Alc
(C). Purchased A/c (D) Goods Ale

epr5dl aramueufiLifimbg) 576@ sLams Gardipsa CalissnE aire| ameuss CalammiqL semdbE

A ewigd s/@ (B) Quréss s/@
(C)  Qsrerapse /@ D) sre@alE
7. The liabilities of a business are Rs.30,000; the capital of the proprietor is Rs 70,000. The
Total assets are:
(A)  Rs. 30,000 D Rs. 1,00,000
(C) Rs. 40,000 (D) Rs. 50,000

e Qemf@eller Qumpiiyisefler wAL . 30,000 oigen o Aawwrerfear e m. 70,000 crafld
Qensgsaatlan L

(A) . 30,000 (B) em. 1,00,000
(C)  ep. 40,000 (D) em. 50,000
8. Accounting having credit balance is closed by writing
(A) To Balance b/d (B) By Balance c/d
) To Balance ¢/d . (D) By Balance b/d

sansdlan @oUmU 2055 sTagdlen wad prafld aupsiiuHeug
A)  @ouy&/Gen ®) Qmuy&/E
€) Qouyd/@ D) @wuy &/Qsr
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10.

1.

12.

0.

SO

When the total of debits and credit are equal , it represents

(A)  debit balance (B)
nil balance (D)

credit balance

entire balance in credit and debit

UpD Quresapd aure| Corgsuptd sIbNE G)HbeTeD, 2ig)

(A updpiy (B)
©) @@y @erero (D)

Nominal account having debit balance represents

(A)  income/gain )
(C)  Assets (D)
Guwrare s samédler Lny @HLUS GOLLig

(A)  eu@hIeID/ D&MD ' (B)
(C)  Qansgsser (D)

Personal and real income are

(A)  closed v

(C)  closed and Transferred (D)

QETENT EETEGSEHLD O\ 11585 SR (%S (6HLD
A gpyssiiu@dlermern (B)
©) - gpyssiLL @ wrpplu@Semer (D)

On 1%t January 2003, chandran draws a bill on sundar for 3 months, its due date is

(A)  31%t March 2003 (B)
4t April 2003 (D)

auged(mLiy
upm eurelled Gliords Gy

expenses/losses

liabilities

Qe /Bl L (b
Gurrgjjuqasm

balanced
balanced and Transferred

@ouy sl bu@damen

BmULser sUL iUl () wihplu@depenr

1st April 2003
3rd April 2003

gereufl 1, 2005 ey spdyen, sbsm Bg apany wrs sre wrhmiE Flgemen erpdlenn, b

LOMH@IEF_1q 6T S@IEnERT BIET
(A) o 31, 2003 (B)
(C)  eurd 4, 2003 . (D)

gurey 1, 2003
auged 3, 2003

040/DM/19
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13.  The balance of cash book indicates

(A)  Net Income
JB)  cashin hand ®

(C)  Difference between debtors and creditors '
(D) net profit
Qrnéas s;rl'_gskr Qrr&ad usH @MUY sT_(Heug
(A)  Hareumorend
B)  @slmuy Arrésid
©€)  sLameflaEd, s_afbCammssupdrer CoaugLim(
D)  Asr @eruid

14.  The balance in the petty cash book is
V)  anasset : (B) aliability
(C)  anincome , (D) anexpenses

févaany Cyrés e () s Gib @muL

A em Gensgy (B) e Qummiiiy
(C) b aumonad D) emQsaa
15. Bank Reconciliation statement is prepared by the
(A) Bank (B) creditor of a business
JAC)  customer of a bank (D) debtor of a business
euridl efls_Hib Ll igwenavd suwimfiliLieur
(A) eumid B)  aafllsgfear s_albCant
(C) aumdlulen eumqdemawirart (D) méﬁﬂ&‘&;‘éﬂﬁh asLer QupCmmir

16. State which of the following errors wﬂl not be revealed by the Trail Balance
wA)  errors of complete omission (B)  Error of carrying forward
(C)  Wrong totaling of a purchased book (D) Wrong totaling of sales book

Sipsaur. Genpsefler @Eliumie) Qs @maﬂuu@)g,g)m_: Gevpenwid @olind (Hs.

(D) A6 Gap B)  srsd epaize Genyp
(€)  Gamerpged LHCaL K &L e - (D) aflpuemar UG 156 st L d) Ganyp

17.  Salary paid to Managers must debited to

(A) Managers Account (B)  Office expenses Account
)  Salary Account (D)  Wages Account

Coarearhée Cegibs Caary w eaduib upm meiéss Geuamg g

(A)  Coeorert serréddld (B)  simeaws Qgowe samrédea

C) eamflu samsded D) sds sanada

040/DM/19 6



18. Revenue expenditure is intended to benefit

(A)  Subsequent year
.\/\‘C) Current year
auheuullend QFqey LILIET g(Houg)
A)  20ss B HES
©)  priygar@sG

19. Balanced sheet is a

ey

(C). ledger

Statement

@iy feve GMLg
(A) sdéas
(C) GCuGr@

20. Drawing must be deductéd from
(A)  Net profit
(C)  gross profit

ey asgj]ésa;nllua_ Geuariguig)
(A)  Hley QeorusHdmpg:
(C)  Qurgs @arugHed mHs:

21. Returns inwards are deducted from
(A) Purchase
(C)  Returns outward

e arHmuub sfl&EsLILHaus)
(A)  Gamapsalambs)
€ Qaslisgmpiusddnhs

(B)
(D)

(B)

D)

B)

(D)

(B)
(D)

D)
(D)

(B)
(D)

v B

M)

- (B)
D)

previous year

Future Year

PHDBIL B HES
eTSliTau(pid Byer(HdE

account
file

GE001 (%
Gamiay

Capital

net loss

ol mbe
Qg pLL e b

Sales

Returns inwards

eflpueanfadimpe
et oULSHS B

040/DM/19
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22.  All the items given in the adjustment will appear at in the final accounts

(A)  Three places ‘/B) Two places _
(C)  One places (D) Four places &
Qudsé samigad gumt QeiwliL@ensule, eMésBgeller gruu@D Dmass @anhs@Esb
—_— Camemmid
(A epeangy @Lriisefled B) Qm G rmsafa
(C) @5 @b (D) mreng @ rmsefe
23. [ncompleted records are generally used by
ﬂ) Small traders (B) Company
(C)  Government (D) Large traders

Wwpew Guprs uHGeau @5@:617 Lwel (S Flmeiend

(A Ay wrurfser (B)  Bywhser
©) s D) Gum Amwikiser
24. The capital of business is ascertained by preparing
(A) Trading account (B) Statement of profit or loss
\/@‘) Statement of affairs (D) Balance sheet
eSlwrurggdlen (wedlenen bl swirflaslufeug
A Quiruny semées (B)  @aru odeg bl oiblémns
©) feoo oiféms D) @muy Hlew éms
25.  Under diminishing balanced method, depreciation
\/d\) decreases cvery year (B) increase every year
(C)  constant every year (D) increase the next year

@emg)l'm:g,] Qeed Gy apenpulles Caiwmrenn
(A) e GCammid @epuyib (B) e Canmib oiflsonehd
C) @ @Csmmd Hleerwms @mé@ih (D) @088 aumLd oifswrEd

26. The term depletion is used for

(A) intﬁngib]e assets (B) I-f‘ixed assets

/(C) Natural resources (D) Tangible assets
Qeugenwuinged erem Glamed @,E_r;rn__r'rumL..uJ@
(A)  sangnéGl oamsads Cenggser (B)  Fows Qenggssed
C) Qupems saflio eueThiger D)  yeamreb Qstagser

040/DM/19 8



27.

28

29.

30.

31.

If selling price is less than the book value of the asserts, it denotes

AN loss (B) capital profit

(C)  expenditure (D) capital loss

eflpuener allewer Qanddlen el (B wdleu &bl Gampeurs QHBITO T G

© 2BGEWD.
(A) plLwn (B) apagen @evruid
(C) Qesaey D) epegen pLL b
: Ratio measure the firm of the liquid ratio

.‘/ﬂ»\) Absolute ratio (B) operating

~ (C)  capital turnover (D) net profit
- GIGNTLIg,) LEr'rémLD a8l asdlel Ha) rHH DennhE LI L STEWD
(A)  gevallw Birenw efldlsid (B) meni_gpenm
(C)  urkug pagand . D)  bHay @eomin
Gross profit can be ascertained by deducting cost of goods sold from

S Sales (B) Purchase
(C)  Sales return (D) Purchase return
Qurgs BerLsemng —— Bwpe elhm Qurmellen oL &s eflmeenis sPILLSET Lpeid
EITETEV LD
(A)  elpuenar (B)  Ganerapged
(C)  elpusner Smriuib D)  Qararpse Harliub
All activity ratios are expressed in terms of
(A)  Proportion B  Times
(C)  Percentage (D) Quantities
Slamerdg Geuum () eddlghia@Enb 258 QaTHEs L G0
(A)  eflgrésnyn B) wv_AG
(C) ssaisibd D) erameaisans
Total sales is Rs. 3,40,000 and the gross profit made is Rs. 1,40,000. The Cost of goods sold
will be ;

V@ Rs. 2,00,000 (B) Rs. 4,80,000

(C) Res. 3,40,000 (D) Rs. 4,00,000

Qunrsg elhueer ¢p. 3,40,000 fai_gs Qrss @aoruih . 1,40,000 pp QurpLseaien &6
efeney

(A)  ¢.2,00,000 : (B) ¢w. 4,80,000

(©) . 3,40,000 (D) em. 4,00,000

9 040/DM/19
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32.  Cost of goods sold Rs. 4,00,000 and average stock is Rs. 80,000. Stock turnover ratio will

be
: ) 5 Times _ (B) 4 Times &
(C) 7 Times (D) 3 Times
eflom Qumm_seflen oiLds ofanw 5. 4,00,000 eynefl syadl@miny ap. 80,000, erédlmin edhuene
efldlgLo
(A)  SwLig B) 4 wLnEe
©)  7wirg (D) 3wt
33.  Budget is an estimate relating to period.

./'A) future (B) current
(C) past ; (D) Imaginary
AL Ul igwied erebiLigy — sregdnarer wHISTE ouEb.
A adi (B) mLuy
O  sLbs D) spumer

34. Cash budget deals with
(A)  Estimate cash receipts
(B) Estimated cash payments
‘/«3) Estimated cash receipts & Estimated cash payments
(D)  None of these |

Cyrés S Ul igue mswredaug)

A) Aol oul L Qonési Qupigeser

B) FHloflioud e Qrréss eIz aer

(©)  SHlobdoule Qs Qupsdser wHmih QFgdsHdser
D) Qoeaisaie ggib Qe

35. In absence of an agreement profits and losses are divided
(A)  In the ratio of capital method
(B)  In the ratio of time devoted by each partner

V)  Equally
(D)  Profitability
o_Larun(p @dens ﬁmmﬁﬁ]s&; Georu b udyiuBeug
A app izl
(B)  gealeanm s _reflub Gsaall L Gpiy eildlgsdlenm g liuanc ufle
(C) FOLNE '

D) Geru lldgsdd
040/DM/19 10



36. In the absence of partnership deed, partners shall
(A)  Be paid salaries
) not be paid salaries
(C)  paid salaries to those who work for the firm
(1))  be paid salaries in next year

dal_L_rarento o e in() @eenrs Glurr@g}..am;.l reflaernéi@

(A)  earfluib SefsslLGD -

(B) eaduib sefldsliu wrllrg

(C) Fpaasdnans 2 mpdsaisaEnss sbuemd sefldaiu@in
D) @58 aupLLd eT&sLuHIW

37- Interest on capital is calculated dn the
,./@) Opening capital (B) Closing capital
(C)  Average capital (D) Profitable capital
(p&ed IBgren aul_ly. SemrddlL LiLBeg)
(A Qgrids pse ®B)  Qud wse
(C)  epnafl apsad D)  @eruspome gpaGEI(LLSR
38. On admission of a partner is good will account is to be raised this should be debited to
(A) Partners Capital account . (B) Goodwill account
\/lf}) Revaluation account (D) Partners profit account
gal_Lnefgefiar Gaisemauler Qurps), sHEUWLT CarpmedssiiLGamsudon upn GeuluGb Semsd
(A) sl Lnefllsafler apged sema@ser (B) poQuwT sawéE
C) vy wLHISH sarsE (D) &l Lneflsaflen Georu senmdE
39. The reconstitution. of the partnérship requires a revision of the existing partners.
AA)  Profit sharing ratio (B) Capital ratio
(C)  Sacrificing ratio (D) Goods ratio
ga_Lrarano LrHHlw@waesuld Lampu gL reflaefler wrHnriue Ceuar(Hib
(A) @Qeru uélie) Hdshd B) apsd flfsid
C)  Huns eflflpid D) Qummpsafler eldsid
40, On admission on new partner, increase in new value of assets is debited to
Z) - Assets Alc (B) Profit and Loss adjustment Alc
(C)  Old partners capital Alc (D) Liability A/c

Ldw el Lnafl Ceraemauie, Qergdler wduGupmid Lnf QelutiL(Gib seéE
(A)  Qensg sewas (B) @aruplL sllés Lo s
(8] LUl g L_neflgeflen upse samés (D) Quugiyseien saméas

11 040/DM/19
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DEPARTMENTAL EXAMINATIONS

DEPARTMENTAL TEST FOR OFFICERS OF THE CO-OPERATIVE
DEPARTMENT - BOOK KEEPING

(Without Books)

Maximum Time : 1:30 hours ' Maximum Marks : 60

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
eSlflairen aflen_wefi&@Ld cuans efermggmar

Read the following instructions carefully before beginning to answer the

questions.

elanmss@sE efav wefss Qsm_kigh apar Eipssetn_ <idle|arsmar £6. 6o Lig sHa|ib.

Answers in excess of the prescribed number of questions appearing at the end of the answer
book will not be valued.

een_sener @B Reter erarenfldenad@ 2ifanns erpdudmuden, elmLssrallar @mdudea o drer

2156 eramranilGansuieorer eflen_aer S UTH Qelwiiuiemg).

In case of doubt, English version is the final.

eflennssatier #bGea LG midlo augelld AasrRasiul Gerer edaméaGer @mPumreang.

Answer any EIGHT questions out of Ten questions : (Bx3=24)

Epssan ugy eemssaildlmbs TCaED ol [ amésEpsd N o (Pgis.

What is Double entry system of book keeping?

@rienL udley Wpenm ETETMTE GTETE?

Give example for subsidiary books.

glanewr LHCouPHae eran@enenan erantieng LHH GO B .
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3. Give journal entries
(a) Paid salary to Mr. Sen Rs. 5,000 .
(b) Deposited with bank Rs. 2,000
(¢) Received cheque Rs.1,200 from Mani
(d) Purchased Machinery from X on cash basis Rs. 15,000.
Spéaean_cupdlenar - BLallyéamas U e|seTTs e
(1) S, Caem ereniaumsi@ sbuerd g5, 5,000/ - aiprustiud L g
(=) @5. 2,000/-g cuiadlufled eveuliy <o Qogquésiiiii_g)
(8) wefl eremuufiLBlmpg . 1,200/ -éaner snGsrea Qupiuc g
(m)  Oprésions th. 15,000/ & @m{r_’r,ﬂr;rénm‘ér . X eramueuflLifmbeg) aurmisiiu L g,

4. From the following particulars prepare a bank reconciliation statement as on 31.3.1999
(a) Balance as per cash book Rs. 2,400

(b)  Cheques issued to creditors amounting to Rs. 1,340 were not collected and credited
before 31.3.1999

() Chequgs amounting to Rs. 1,900 deposited into bank were not collected and credited
before 31.3.1999.

Spssa  uymiselan SlguuenLuie  31.03.1999 & Ligwirer  eutudl  epsdlenaeyl’
U iguiaSlener-guwimiGle.
(o) Qursslugsssder Ly Haienal - . 2,400/ -

() 5. 1,340/~ daren enGsnene s mpGanmée aupmsiul Lfd 31.03.1999 seer srGsrma
Qrrésnrsns Bleneulleh _ererg

(@) @ 1.900/- ésien snGsrive cumdller eupmstin Lo 31.031999 s@anh srCsrma
Qyrésworsns Hlaauleo 2_eTeng)

. Rectify the following errors
(a) Purchase Book is over cast by Rs. 300.
(b)  Sales book has been under cast by Rs. 200
(¢)  Purchase returns book has been overcast by Rs. 75
(d) Sales Returns book has been under cast by Rs. 50.
Epsaan_ Genpamar Smash Qe
(1) Ganerepgsd CUGT g6 . 300/ - oifsions sramdasiul.Lg
(=) ofipuenen G’u(ﬁr;l'_qab eh. 200/- @eopeuns snamdssiul Lg
(&) Qsndrepsd A CuGHige . 75/- Siflsons sramAssiug L g
() efpuaen i CuGrige . 50/- Gepeirs srepriésiuL g

040/DM/19 2



~1

Good Luck Ltd. shifts their factory to more suitable premises. They incur the following

‘xpcnditure: :

(a) Cost of dismantling, removing and installing the plant Rs. 80,000

(b)  An old plant (WDV Rs. 1,00,000) was sold for Rs. 90,000.A new machine was purchased
for Rs. 2,50,000 and installed at a cost of Rs. 40,000.

Apportion these expenditure between capital and revenue.

@l avd NG L, ereirp Hlmieuerd gerg Hineiaddlaner Coum e @)L sHD@E wrHmib Qalidlng. =iHhs
gowsHa Spsaam_ Qewsieamisear GopdararaniuBdpg

(=) ser uygmofliy whmob Lpgisemer B&adl YHw eugelld sarb Senwliugharer Qamey m. 80,000/-

(=) wenpw @uipdlyhiseer (Lssas UL ep. 1,00,000) g 90,000/-6@ ehumer Qg 6@,
ydlw Qupdyrugeaar ¢m. 2,50,000/- &@ Qamaripgd Qeliuiul. (), sigamar Hneugnanar Qswe]
ep. 40,000/~ Gaevall il gy).

aeGe Qeucuans biaiugdmasmer ‘apsd Qewe)” wHmId “eumorar Qseey” s GNss
et Gléa.

From the information given below prepare Trading Account

Rs.
Opening Stock- 1,00,000
Purchases 1,50.000

Purchase returns 25,000
Direct expenses 10,000

Carriage inwards 5,000
Sales 4,00,000
Closing stock 50,000
Sipsaeanr_ el urmseaflear oy iLienuleé eNwnimy seée swimt Qe
.
@LTibu @B 1,00,000
Qarerapsed 1,60.000
Qararapgse Spin 25,000
Gy Gsweysern 10,000
2 I L|MIDT& QUETly. GUMTL_GN& 5,000
eflmuien e 4,00,000
Qud Qo 50,000

A machinery was purchased for Rs. 30,000 on 1.1.86. It is expeéted to last for 5 years.
Estimated scrap at the end of five years is Rs. 5,000. Find out the rate of depreciation under
straight line method.

e Guipdmnd 1.1.86 & . 30,000 /- &g CQararupsed Qe L g, @ubdyn 5 BaTHSEHES
BIH semLWNE QMESD eem GHTUMESIULLE. ®mbg B® pyeld Gubdrsdleaman
Wuase Csrar® amd Heooudd adiurnégnd Qsoea m. 5000/- aafld-Cpir Carl( sifey
wpanuie-sfelen eNflsnésnysms sem @ y.

3 040/DM/19
[Turn over



9. What is Reserve fund? How does it differ from Reserve?

&Ly 18 erammmned erenen? @aI6EL g6 @(BHgI Sig ereuaurn Caimu(Hdng? : ™

10. What is consignment? What is its main purpose?
DAGILLE FEG DADDF QUL QUTmeT eremmired eretien? Sige (pédiu Cbméstb eranen?

IT. Answer any THREE questions out of Five questions : (3 x 5=15)
Epssa. gig eflemssallalBhg gCoab apeny e amas@née el agss.

1. Enter the following transactions in a cash book

1995 Rs.
January

5 Started business with 5,000

8 Paid rent for Jan 1995 150

10 Purchased office furniture 750

10 Bought goods for cash 1,500

11 Sold goods for cash 900

11 Cash sales 100

1) Received from Raju on account 400

13 Paid to Gopi on account 200

14 Cash withdrawn for own use 150

15 Sold goods for cash 350

SpsaaTL pL ey bamasmer AUmasl UssssHld Lba) Ceil
1995 1.
snateu]

b eflwmumy b 9719 G Lh Gumpg, CgTens 5,000
8 ganeufl 1995-6 womg eunt_ana QarDsss 150
10 DIPIGUDS GeTauL gnorensen Qaratipge Aaiigs 750
10 - Qe g LiueL e (Ah_:‘rr@ai'ram'rr QUM LLg) 1,500
11 Cyrée g iuen _uiled Qummeraer e HLene 900
11 Qs almuene 100
12 e eTevLIcug) Semddled Glupliu L g 400
13 Cama erenucung samido QsrHsss) 200
14 Qsmhs 2 LGUTEEHDETE Liewd TOESH 150
15 Llyrés g Luen_uléd Qurmerser edlhiiener 350
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What is Bank Reconciliation Statement; explain the need of Bank Reconciliation Statement?

& il @gdlansea LI iquid eTampred ereian? igen (pbdludgaidasts LHM eNeréEs.

Prepare Trial Balance from the following

Japital

Rs.
9,000

Plant and machinery 12,000

Purchases
Sales
Sundry creditors
Bank loan
Rent outstanding
Opening stock
Sales returns
Investments

Debtors

Spsae @amisafler ojgliumLwled ghlgrams samsdemen e

WS

8,000
12,000
8,000

- 22,000

1,000
2,000
4,000
14,000
12,000

{ih.
9,000

augaid woHmib GuisSlrhisdr 12,000

QameT(psa
eflmLienen

sL_ein FGETiEeT
cunmidl sL_an
aIrL_ens Hlayema
DU GBI
aflpLiene &l(mLiLith
GrRICERy

sL_armeflser

8,000

12,000

8,000

22,000
1,000
2,000
4,000

14,000

12,000
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4. From the following information, find out the value of stock as on 31-3-2002. According to

AS-2
®

(a) Cost of physical stock on 31-3-2002 was Rs. 4,00,000.
(b) Cost of stock held as consignee was Rs. 80,000

(¢) Stock was expected to realize the normal selling price of 150% of cost except for the
following goods.

(i) Goods costing Rs. 20,000 were damaged and an expenditure of 10% of normal
selling price was necessary to realize normal selling price of goods.

(i) Goods costing Rs. 40,000 were damaged beyond rcpair and were expected to
realize Rs. 10,000 only.

Epssar efurisaflan vigliuemuld 31.03.2002 @ sysdlen whifGamen a9 (According to
As-2)

(1) 31.03.2002 e uigwirer LfGangenen @ muiy an. 4,00,000
() agad wpapude syée Gupma m. 80,000

(@) Epssan_ sys@sda Shsons @sr sréEHmEr DLss ellwauld 150% &g elpuemer
Qe e Geuarr(Hb aramy erdliummiCurCGowimemed

(6)) . 20,000 wdlierer &5é@ LG M _Hsg. aaGal srsryer ofpuemen efeaeuid
epuenar Qeliw Qeaway 10% gereiing Camaiiu@dng.

(i) . 40,000 iareflhanen sydE Lpg whmb efl Cedudun. g eranCeu erdiunmé@Eid
Gaeey er. 10,000,

5.  What are the sources from which capital reserve is created?

@g,éﬁ'@ 2&I15E0 2 (HeuTsEGeuSHENen ULl (PENMEET 6766 ?

I11. Answers to THREE questions out of Five questions : B x7=21)

EpssaL. @by elarmsaaialhhg gGsed ppem ofl @msEsEhsE ellenL er(ps&.

1. Explain accounting concepts briefly.

e (G, eneu Ly (panmpaafien Carl_LinBaener eflsui.

o Distinguish between :
(a) Capital expenditure and revenue expenditure
(b) Capital receipts and revenue receipts.
aflsdwrsrisener edlanées.
(1) ppeger emea LHDID aumwrer Aswea) dwepdhe 2 erer Caumiim igamer allaré@s.
() fpege aifey LHDID e e fueupBbE o arer Gmgumﬁqmm e ené @,
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3. From the details given by Mr. Arul prepare final A/c’s for 1997

&

Rs.
Capital 50,000

Plant and Machinery 80,000

Sales 1,77,000
Purchases 60,000
Debtors 45,000
Creditors 25,000
Cash balance 6,900

Additional Information:

(a)
(b)

(o) -

(d)

Closing stock Rs. 35,000.

Interest on Capital to be allowed at 5%

Outstanding Rent was Rs. 1,000.

Rs.
Returns in 1,000
Returns out 750
Discount 400
Salaries 7,500
Wages 10,750
Rent 12,000

Opening stock 29,200

Depreciation on plant and Machinery at 6%

Spssaim.. eflLiyrisafien oiqiLmude (H. <imer) @ndssmras 1997 de swni Qe

@.
PG SRITLD 50,000
ganb wHmibd @uibSyin 80,000
sl MHLienest 1,77,000
GlaraTpse 60,000
sL_araflg&er 45,000
sLan i EHiTaer 25,000
Qynés mesufguy 6,900

s (g6 eflaugmiger:

(@) @md sTEdmuy m. 35,000/

(<) gerb wHnb uibdrsdnerer sfa 6%

(@) posarsdibe g 5%

(Fr)

eurLena layenal em. 1,000.

5.
o_ar Sl@mLiuib 1,000
Geauafl Haptiuid 750

SHelT(@mLlg 400
sibLIaTD 7,500
gl 10,750
GUITL_60& 12,000
Sp7bL @y 29,200
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b.

A machine purchased on 1t July 1983 at a cost of Rs. 14,000 and Rs. 1:000 was spent on 1ts
installation. The depreciation is written off at 10% on the original cost every year. The‘oks
are closed on 31 December each year. The machine was sold for Rs. 94 on
315t March1986. Show the Machinery account for all the years.

em @updmd 1.7.1983 & . 14,000/- olowse Gardaopsd Qeuwlulig. @ 1,000/

Byejegperea Qewey Qewiwitiu L g galeanm w@mepGh sfiey oied o é6 odoauid 10%.

samg@ GUGrhser gelearm @b wabun 31 pyésLul® auEdng. ps QuUBHTd
$1.3.1986 & . 9,500/~ &@ efihuemen Qeuwliul L gl erarGol Demarss HaTHEEREGD @uibsy
&M@ SUIT Qe '

S and P entered into a joint venture and agreed to divide the profit as to S 60% and P 40%.
S and P contributed Rs. 1,80,000 and Rs. 1,20,000 respectively for carrying on transactions
relating to the venture. They opened a joint bank account with the above contributions. They
purchased three old state buses for Rs. 2,40,000. S and P personally paid Rs. 45,000 and
Rs. 30,000 respectively for repairs and renewals. They purchases a few tyres and tubes
costing Rs. 54,000. Two buses were sold for Rs. 2,70,000 and the third one was taken by P at
cost price. Prepare joint venture account, joint bank account and close the accounts of the
venture. .

S wppb P apdlu @meusd sl @ siemllar apumnd) edwnung pLeigdensuled mEUC L@ ieiTsa
Qmeumb @orugdléd S-&@ 60-b P-&g 400 Qupps Qeréarer @UUBSD FHUOEE o derari.
S eremuaurme g 1,80,000 apd P ererucunmed 1,20,000 apih eupiidl o @rarent. Sigliuen_udled
Qomoumbd sl B gielarupuind W m@u Q) eupgant. Bieuissr apery umpw Sigs Cumhgismen e
2,40,000/- & Qarerapged Qeligerr. psCumpgiseian Liipg béssdnsns S-wp . 45,000/- aph
P 46 . 30,000/~ @b Qaeva) Qeuig; o earenit. pieuiaer LHu Lt pmib Glisemer @m. 54,000/ &g
Qarerapsd Gelg o drarent. @ yem Gumpgaet g 2,70,000/-é@ epumen Qelis o drerer.
eparpreug  Cumbdlenar eremueurned Dids dowdE @S Qerarimr. g @bs
pLaugdamasafien gl sl B geflar pupd sanée wHmib el @ akid sméd wHmb
5SS (DY &EWL (penn Hdlweme LD eNenéEs.
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